Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				1	ural pment - I	Mara	ithi - I	Econo	mics - I	Skills in	unication n English '	Mai (Comp	rathi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
1	0	EX-71001	/ AHIRE GAYATRI ASHOK ALKA		\$40		\$40		\$40	\$18	32		\$45	\$10	\$30		66	15.0	4.40	D
				Mara	athi - I	Econo	mics - I	His	tory	Skills in	unication English	Mai (Comp	rathi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
2	0	EX-71002	/ AMBAT SEJAL SANDESH SHAILA		\$40		\$40		\$40	\$17	32		\$41	\$17	\$37		66	15.0	4.40	D
3	0	EX-71003	/ BABAR RUPALI RAJARAM SITA		\$59		\$40		8	\$17	32		\$40	\$20	\$42		67	12.0		F
4	0	EX-71004	BASAVAT NARESH JAYRAM JAYVANTI		\$40		\$50		40	\$18	\$35		\$40	\$21	\$44		78	15.0	5.20	С
				Comm	nerce - I	Mara	thi - I	His	itory	Skills in	unication English	Mai (Comp	rathi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	<u> </u>				
5	0	EX-71005	/ BHOIR MANALI KASHINATH LATA		\$40		\$50		40	\$17	\$32		\$40	\$15	\$30		70	15.0	4.67	D
6	0	EX-71006	/ BHONE AKANKSHA DATTATRAYA CHHAYA		\$51		\$53		57	\$18	\$32		\$40	\$21	\$54		95	15.0	6.33	В
				Mara	athi - I	Econo	mics - I	His	tory	Skills in	unication English	Mai (Comp	rathi ulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
7	0	EX-71007	/ BHURKUD DIVIKA SUNIL GEETA		\$40		\$40		42	\$16	32		\$40	\$18	33		66	15.0	4.40	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Mara	athi - I	Econo	omics - I	His	tory	Skills in	unication English		rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
8	0	EX-71008	/ BIND POOJA SHIVKUMAR PRAMILADEVI		\$62		\$50		45	\$19	\$47		\$40	\$22	\$51		99	15.0	6.60	В
9	0	EX-71009	/ CHURI HARSHALA RAVINDRA GULAB		40		\$40		40	\$14	32		\$40	\$18	\$30		64	15.0	4.27	D
10	0	EX-71010	/ DALVI RAKSHITA ASHOK ASHWINI		\$48		40		9	\$15	22		\$40	\$18	\$36		47	10.0		F
					Rural velopment - I /0 40/100 (di - I	Econor	mics - I	Skills in	unication English		ndi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
11	0	EX-71011	DHAMANKAR KRUTIK SHAILESH NILIMA		\$56		40		\$56	\$15	\$61		\$52	11	\$54		100	15.0	6.67	В
				Comn	nerce - I	Mara	athi - I	His	tory	Skills in	unication English	Mai (Comp	rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	-				
12	0	EX-71012	/ DHANMEHER BHUMIKA RAJESH ANITA		\$40		40		\$40	\$16	32		\$40	\$16	\$30		64	15.0	4.27	D
				Comm	nerce - I	Hin	di - I	His	tory	Skills in	unication English	l	ndi oulsory)		idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
13	0	EX-71013	/ GHARAT AMISHA BHAU VIJAYA		\$43		\$48		\$40	AB	\$32		\$43	\$10	\$37		57	13.0		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Mara	athi - I	Econo	mics - I	Hist	tory	l	unication n English '		rathi oulsory)	Found Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	Ī į				
14	0	EX-71014	/ GHARAT VRUDNYA NITIN SHITAL		\$40		\$40		40	\$17	32		\$40	\$18	\$31		64	15.0	4.27	D
				Comm	nerce - I	l	iral oment - I	Hino	l - ib	Skills ir	unication English	H (Comp	indi pulsory)	Foun	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
15	0	EX-71015	GODALE DURGESH PRAVIN GEETA		\$40		\$40		\$40	\$15	22		\$52	\$17	\$30		58	13.0		F
				Hin	di - I	Econo	mics - I	Hist	tory	Skills ir	unication English	H (Comp	indi oulsory)	''	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
16	0	EX-71016	/ HARIJAN RUBI MUNNAPRASAD DROPADI		44		\$40		40	\$14	22		44	\$15	\$30		54	13.0		F
				Comm	nerce - I	·	ıral oment - I	Hino	l - ib	Skills ir	unication English		indi oulsory)	Found Course						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
17	0	EX-71017	/ JADHAV PRACHI SADASHIV SAVITA		\$41		40		\$40	\$15	32		\$40	\$17	\$30		64	15.0	4.27	D
				Hin	di - I	Econo	mics - I	Hist	tory	Skills in	unication English	H (Comp	indi oulsory)	Found Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
18	0	EX-71018	KINI BHAVESH KAMLAKAR KRUPALI		24		21		40	\$13	32		20	\$16	19		22	5.0		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Comm	ierce - I	Mara	thi - I	His	tory	Skills in	inication English		rathi oulsory)	Foun Course						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	† i				
19	0	EX-71019	/ KORE DURVIKA BHUPENDRA BHUMIKA		\$40		\$42		40	\$15	\$32		\$40	\$21	\$30		66	15.0	4.40	D
				Mara	athi - I	Econo	mics - I	His	tory		inication English	Ma (Comp	rathi oulsory)	Foun Cour	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
20	0	EX-71020	LAD OM ANKUSH ALAKA		40		13		24	\$15	22		18	\$15	15		12	3.0		F
				Hin	di - I	Econo	mics - I	His	tory	Skills in	inication English	Hi (Comp	ndi oulsory)	Foun Cour	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	† i				
21	0	EX-71021	LAHANGE VISHAL LAXMAN SUMAN		19		\$40		7	\$8	32		19	12	\$30		28	7.0		F
				1	ural oment - I	Mara	athi - I	Econor	mics - I	Skills in	inication English	Ma (Comp	rathi oulsory)	Foun Cour	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	† i				
22	0	EX-71022	/ MACHHI TEJASWI MAHENDRA NILIMA		\$62		\$57		\$46	\$15	41		\$48	\$20	\$41		100	15.0	6.67	В
				Comm	ierce - I	Mara	athi - I	His	tory	Skills in	inication English	Ma (Comp	rathi oulsory)	Foun Cour	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
23	0	EX-71023	/ MEHER SRUSHTI SIDDHARTH NAYANA		\$40		\$54		40	\$16	\$32		\$40	\$18	\$30		70	15.0	4.67	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				l '	ural pment - I	Mara	thi - I	Econor	mics - I		unication English	Ma (Comp	rathi oulsory)	Found Cour						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
24	0	EX-71024	/ MOR DARSHANA HARICHANDR KAMAL		\$45		\$40		40	\$8	32		23	\$12	31		55	13.0		F
				Comm	nerce - I	Ru Develop		Hino	l - ib		unication English	Hi (Comp	ndi oulsory)	Found						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
25	0	EX-71025	/ MORE BHAGYASHRI RAJESH VRUTALI		\$40		\$41		AB	\$8	AB		AB	\$15	\$30		34	8.0		F
				Mara	athi - I	Econo	mics - I	His	,		inication English		rathi oulsory)	Found						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
26	0	EX-71026	/ MOR PRIYA ASHWIN MAYURI		\$60		\$44		40	\$19	\$45		\$54	\$20	\$47		92	15.0	6.13	В
				Comm	nerce - I	Mara	thi - I	His	,	Skills in	inication English		rathi oulsory)	Found						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
27	0	EX-71027	/ NISHAD KAMINI PRAKASH DEVKI		\$40		\$40		40	\$10	32		40	\$18	\$36		64	15.0	4.27	D
28	0	EX-71028	/ PAGDHARE HARSHALI JITESH JAYASHRI		\$40		\$45		44	\$16	\$32		\$45	\$15	\$30		69	15.0	4.60	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Hir	ndi - I	Econo	omics - I	Histo	ory	Skills ir	unication English		ndi oulsory)	''	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
29	0	EX-71029	/ PAGDHARE KOMAL GANESH MANISHA		\$42		45		40	\$15	\$32		\$40	\$18	\$30		67	15.0	4.47	D
				Mar	athi - I	Econo	omics - I	Histo	ory	Skills in	unication English	Mai (Comp	rathi oulsory)	''	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
30	0	EX-71030	/ PATEL ASHLESHA DHANESH REKHA		\$40		\$50		\$40	\$17	\$33		\$40	12	\$36		72	15.0	4.80	D
31	0	EX-71031	PATIL JITENDRA THAKYAJI BEBI		\$40		\$45		40	\$15	\$32		\$40	\$18	\$30		67	15.0	4.47	D
32	0	EX-71032	/ PATIL KRUTIKA DINESH BHARATI		40		\$40		40	\$10	32		\$40	10	\$30		60	15.0	4.00	D
33	0	EX-71033	/ PATIL PRANJAL HEMANT HEMANGI		40		\$40		\$40	\$16	\$32		50	\$19	\$33		70	15.0	4.67	D
				Comn	nerce - I	1	ural pment - I	Marat	hi - I	Skills in	unication English	1	rathi oulsory)	''	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
34	0	EX-71034	/ PATIL TEJASVI JITENDRA JYOTSNA		\$45		\$45		\$40	\$13	32		40	\$20	\$41		76	15.0	5.07	С
				Comn	nerce - I	Mar	athi - I	Histo	ory	Skills ir	unication English	l.	rathi oulsory)	''	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
35	0	EX-71035	PAWAR MAHESH SHARAD MEENA	1	\$40		\$40		40	\$10	32		\$40	\$16	\$30		62	15.0	4.13	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Hin	ndi - I	Econo	omics - I	Hist	tory		inication English	Hi (Comp	ndi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
36	0	EX-71036	PILENA VIJAY RAMAN CHAMPI		\$40		\$40		23	\$18	22		\$40	\$17	\$30		42	10.0		F
37	0	EX-71037	/ PRAJAPATI VISHAKHA RAMBACHAN SUNITA		\$40		\$40		40	\$15	32		\$52	\$14	\$37		70	15.0	4.67	D
				Mara	athi - I	Econo	mics - I	Hist	tory		inication English	Mai (Comp	rathi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
38	0	EX-71038	/ RAUT RIYA RUPESH RUCHITA		\$40		\$40		26	\$16	22		\$43	\$18	\$30		42	10.0		F
				Hin	ndi - I	Econo	omics - I	Hist	tory		inication English	Hi (Comp	ndi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
39	0	EX-71039	RAVATE DEVENDRA ANIL ANITA		\$43		\$47		47	\$15	\$32		\$51	\$19	\$35		76	15.0	5.07	С
				Comm	nerce - I	Hin	idi - I	Hist	tory		Inication English		ndi ulsory)		idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	<u> </u>				
40	0	EX-71040	RAVATE SATYENDRA VASANT KALAVATI		\$40		43		44	\$10	33		\$41	\$20	\$40		68	15.0	4.53	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Comm	nerce - I	Mara	thi - I	His	story	1	inication English	Mar (Comp	rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
41	0	EX-71041	/ SALVE NAYNA BHIMA LATA		\$40		\$40		40	\$13	AB		\$40	\$20	\$40		60	13.0		F
				Mara	athi - I	Econo	mics - I	His	story	Skills in	inication English	Mai (Comp	rathi oulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
42	0	EX-71042	SAMBAR PRANIT PRAKASH MANGALA		\$48		\$60		\$40	\$8	34		\$40	\$21	\$30		79	15.0	5.27	С
				Comm	nerce - I	1	ıral oment - I	Hin	di - I	Skills in	inication English	Hi (Comp	ndi oulsory)	Foun Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
43	0	EX-71043	SHEKOKARE PANKAJ SAMADHAN SARALA		\$40		\$43		40	\$10	32		28	\$15	\$36		56	13.0		F
				Comm	nerce - I	Ru Develop		Hin	di - I	Skills in	inication English	Hi (Comp	ndi oulsory)	Foun Course						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	 				
44	0	EX-71044	/ SHEKOKARE SAKSHI SAMADHAN SARALA		17		\$40		21	\$9	32		23	\$19	30		30	7.0		F
				Mara	athi - I	Econo	mics - I	His	story	Skills in	inication English	Mai (Comp	rathi oulsory)	Foun Course						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	<u> </u>				
45	0	EX-71045	/ SHINGADA DEVANSHI DILIP LAXMI	YRO.	\$40		41		40	\$9	37		23	\$20	30		58	13.0		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Hin	di - I	Econo	mics - I	Histo	ory	l	inication English	Hi (Comp	indi pulsory)	Found Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
46	0	EX-71046	SINGH PRAVIN MAHENDRA VIDYAVATIDEVI		50		\$69		\$40	\$18	\$36		\$54	\$20	\$42		94	15.0	6.27	В
				Comm	nerce - I	Mara	thi - I	Histo	ory	Skills in	inication English		rathi oulsory)	Foun	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	<u> </u>				
47	0	EX-71047	/ TAMORE DIYA ROHIDAS GULAB		\$40		\$40		\$40	\$17	\$33		40	\$18	\$34		68	15.0	4.53	D
				1	Rural Hin		di - I	Econom	nics - I	Skills in	inication English	Hi (Comp	indi oulsory)	Found	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
48	0	EX-71048	/ TANDEL NEHA LAXMIKANT LATA		\$41		\$60		60	\$19	\$40		\$62	10	\$33		98	15.0	6.53	В
				Comm	nerce - I	1	ral oment - I	Hindi	i - I	Skills in	inication English	Hi (Comp	indi oulsory)	Found	dation se - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
49	0	EX-71049	/ THAKUR MANSAVI PRABHAKAR PRATIKSHA		\$40		\$48		\$48	\$16	23		\$40	\$20	\$30		62	13.0		F
				Comm	nerce - I	1	iral oment - I	Marati	hi - I		inication English		rathi oulsory)	Found Course						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
50	0	EX-71050	VAZE VEDANT VAIBHAV PRITI		\$40		\$42		\$40	\$13	36		40	\$19	\$30		64	15.0	4.27	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Arts **EXAMINATION**: March - 2024 **SEMESTER**: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Comm	erce - I	Ru Develop	ural oment - I	Hino	di - I	Skills in	inication English		ndi pulsory)		dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	Ì				
51	0	EX-71051	YADAV BADAL CHOTELAL SITA		5		\$40		20	\$8	2		27	\$20	\$30		24	5.0		F
					Rural evelopment - I		di - I	Econor	mics - I	Skills in	inication English		ndi oulsory)	Foun Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
52	0	EX-71052	YADAV MANISH SUKAI SAROJ		\$40		\$40		\$40	\$18	9		\$43	\$10	\$30		52	13.0		F
				Hin	\$40 Hindi - I		mics - I	Hist	tory	Skills in	inication English		ndi pulsory)	Foun Cour	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
53	0	EX-71053	/ ZALTE RUHI BHAVSAHEB JYOTSNA		\$40		\$62		40	\$18	\$32		43	\$16	\$30		78	15.0	5.20	С

Prepared by

Printed on date - 29/04/2024

Checked by

In-Charge
Examination
P. L. Shroff College of Arts & Commerce
Chinchani, Dist. Thane.

P.L.SHPO

Principa!
P. L. Shroff College
Chinchani, Tal. Dahanu,
list. Palghar, Pin-401 503.